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REEE HAEfE 4R 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE &KIE
o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 |Kig&E TR TR TR
H03 |HRIVLRUZDIEEY 0.003 me/IELF 0.0003< 0.0003
04 [KBRUZDILEY 0.0005 me/ILLF 0.00005[<  0.00005
#05 [ELURUZDILEY 0.01 meg/IULT 0.001[< 0.001
06 |ShRUZDILEY 0.01 me/IUT 0.001[< 0.001
07 |[ERRUZDILEY 0.01 me/ILLT 0.001< 0.001
#og |KffivnLiLEy 0.05 me/ILT 0.005|< 0.005
2oy |BRHBEER s ey . oS 0004[< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | 0001[< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 03 03
12 [DVRRUZOLEED 0.8 mg/ILLF 0.11 0.11
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 |migfbiE 0.002 mg/ILLF 0.0002< 0.0002
H15 [14-OAF 4> 0.05 me/ILLT 0.005|< 0.005
H16 |va-12-0/A01FLY RIYR-1,2-Y JAOIFLY 0.04 mg/ILIF 0.001(< 0.001
17 [PrraAray 0.02 me/ILLT 0.001[< 0.001
#18 |FrSYORIFLY 0.01 me/ILLTF 0.001[< 0.001
#19 |M)yOBEIFLY 0.01 meg/ILLT 0.001[< 0.001
#20 [RoEY 0.01 me/ILLT 0.001[< 0.001
Ho |fEHRE 0.6 mg/ILLF 0.063 0.07
#22 |YOOFEE 0.02 mg/ILT 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0015 0.003
H24 |CHOOFREE 0.04 me/ILLT 0.0033 0.004
#o5 [UToES/OOARY 0.1 mg/IAT 0.014 0.024
H26 |[RFEE 0.01 me/ILLT 0.001[< 0.001
H27 [fak)naxay 0.1 mg/ILLF 0.03625 0.058
#28 |M)HOOEEE 0.2 meg/ILT 0.003|< 0.003
#29 |[JnECH/OOAEY 0.03 me/ILLT 0.00425 0.009
#30 |[JOERILL 0.09 me/ILLT 0.01775 0.022
31 RILLTZILTER 0.08 me/ILLT 0.008 0.008
32 |EHRUZOLLEY 1 me/IUF 0.009 0.009
H33 |[FILI=ZHLRUVZEDIEED 0.2 mg/ILLF 0.03 0.03
H34 |BRUZDILLEY 0.3 me/ILT 0.03[< 0.03
£35 [HRUEDIEEY gt | o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 125 125
H37 |[RUAVRUZDIEED 0.05 mg/ILTF 0.001< 0.001
38 IR 14> 200 me/IBLF 185 29.0
H39 (HILPIL TR LEEE) 300 meg/IUTF 44 44
40 |HREEBRY 500 mg/ILLF 126 126
H41 a4 REEEA 0.2 mg/IUT B 0.02[< 0.02
#a2 [Szrzrsy 0.00001 me/IEF oooo002]  0ooooo2]  oooooot]| ooo0ootf [ [ | | I ["00000015] 0.000002
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001] < 0000001] < o000000O1[< o0000OOGF} [ [ [ [ [ [ 0000001 0000001
B4 |14 REEES 0.02 mg/ILLF e 0.002[< 0.002
#45 [Jz/—ILE 0.005 me/ILLF 0.0005(< 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT . . . X . X 0.59 1.00
H47 |pHIE OKRAAVEE) 5851 E~86LUTF 7.1 7.2 7.2 7.2 7.3 7.2 7.2 7.1 7.1 7.1 7.1 7.1 7.16 7.30
H48 [k BEETENIE | BELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL
H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL
#50 | 5 EUT|K 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1 0.1|< 0.1
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REEE HAEfE 4R 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0003 mg/AF ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 054 054
£12 [J9RRUZOIEEY osmomFli bl omp b bl b bl 0.08[< 0.08
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY 008mgwrl [ 0 of  } T I I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 0070 01
#22 |YOOFEE 0.02 mg/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0013 0.002
H24 |CHOOFREE 0.04 me/ILLT < 0.003[< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.0095 0.018
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.0245 0.042
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |[JnECH/OOAEY 0.03 me/ILLT 0.00325 0.008
#30 |[JOERILL 0.09 me/ILLT 0.012 0.02
31 RILLTZILTER 0.08 me/ILLT < 0.008[< 0.008
32 |EHRUZDILLEY 1 me/IUF I 0.04 0.04
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmomFli bl bl b b bl 0.03[< 003
£35 [HRUEDIEEY gt | [ o f I I [ ] 001 001
#36 [FRIVLRUZDILEY 200 me/ILIF 15.1 15.1
37 [RUARUEDIEE 0mgwidl [ 0} of  } F ¢ 0 P P I = [k oomf< oo
38 IR 14> 200 me/IBLF . . 13.7 17.8
H39 [HLS DL TRV LEEE) 300 me/ILF 37 37
40 |HREEBRY 500 mg/ILLF 105 105
a1 [BAA S REEIEA o2mewr| | 0 e [ I I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0000001]< 0000001  oooooot|[< oooooorf [ [ [ | | | "ooo0001] 0000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.4 0.5 0.6 0.6 0.9 0.5 0.5 0.4 0.3 0.3 0.4 0.48 0.90
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.0 71 6.9 6.9 71 7.2 7.2 6.9 7.0 7.2 7.1 7.1 7.06 7.20
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1
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o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0.003 mg/ILLT ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 0.35 0.35
12 [DVRRUZOLEED 0.8 mg/ILLF 0.11 0.11
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY 008mgwrl [ 0 of  } T I I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 007 0.08
#22 |YOOERE 0.02 mg/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0013 0.002
H24 |CHOOFREE 0.04 me/ILLT < 0.003[< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.0175 0.026
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.05375 0.078
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |JnESH/OOALY 0.03 me/ILLT 0.0048 0.01
30 [JOERILL 0.09 me/ILLT 0.031 0.047
31 RILLTZILTER 0.08 me/ILLT < 0.008[< 0.008
32 |EHRUZDILLEY 1 me/IUF 0.006 0.006
H33 |[FILI=ZHLRUVZEDIEED 0.2 mg/ILLF 0.02 0.02
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY gt | o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 12 12
37 [RUARUEDIEE 0mgwidl [ 0} of  } F ¢ 0 P I = [k oomf< oo
38 IR 14> 200 me/IBLF . . 17.0 23.3
H39 (HILPIL TR LEEE) 300 meg/IUTF 44 44
40 |HREEBRY 500 mg/ILLF 122 122
a1 [BAA S REEIEA o2mewr| | 0 ke [ I T I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF o0ooo002]  oooooot] oooooot| ooo0002f [ [ | | | ["00000015] 0.000002
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.4 0.5 0.9 0.8 1.0 0.6 0.5 0.8 0.4 0.4 0.6 0.62 1.00
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.2 7.2 74 7.3 7.3 7.3 7.2 7.2 7.2 7.2 7.2 7.2 7.24 7.40
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BRELL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1
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REEE HAEfE 48 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0003 mg/AF ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e b b i ek 0008k 0005
Hoy |EREEESR 0.04 mg/ILLT P 0.004/< 0.004/< 0.004
10 [T UEPIF U RUERS T 0.01 me/IUT 0.001[< 0.001[< 0.001
1 |WREZRRVEMBERESR 10 me/ILLT 0.38 0.38
12 [DVRRUZOLEED 0.8 mg/ILLF ] 0.11 0.11
£13 [ RRUZOIEED tegns] 0 ¢ ol 0 [ 00 | - K 04[< 0.
H14 [mEERE 0.002 me/ 1T . b B I¢ o000k 00002
Hi15 |[14-SAFH 0.05 mg/ILLT - K 0.005< 0.005
H16 |va-12-0/A01FLY RIYR-1,2-Y JAOIFLY 0.04 mg/ILIF . _—_— 0.001(< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 0.0675 0.09
#22 |YOOFEE 0.02 mg/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0015 0.003
H24 |CHOOFREE 0.04 me/ILLT 0.003 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.0175 0.026
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.05475 0.08
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |JnESH/OOALY 0.03 me/ILLT 0.0048 0.01
#30 |[JOERILL 0.09 me/ILLT 0.032 0.049
31 RILLTZILTER 0.08 me/ILLT < 0.008|< 0.008
32 |EHRUZDILLEY 1 me/IUF 0.006 0.006
H33 |[FILI=ZHLRUVZEDIEED 0.2 mg/ILLF 0.02 0.02
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY g | < o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 12.1 121
37 [RUARUEDIEE 0mgwrl [ 0} oef } F ¢ P I = [k oomf< oo
38 IR 14> 200 me/IBLF . 17.2 24.9
H39 (HILPIL TR LEEE) 300 meg/IUTF 44 44
40 |HREEBRY 500 mg/ILLF 116 116
a1 [BAA S REEIEA o2mewr| | 0 e [ I T I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF oooo002]  0ooooo2]  oooooot]| ooo0ootf [ [ | | I ["00000015] 0.000002
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.4 0.5 0.9 0.8 1.0 0.6 0.5 0.9 0.4 0.5 0.5 0.63 1.00
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.2 7.1 7.3 7.3 7.3 7.3 7.2 7.2 7.2 7.2 7.1 7.2 7.22 7.30
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1< 0.1< 0.1< 0.1|< 0.1|< 0.1|< 0.1|< 0.1
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(FERi285FBE  X#ETRE)

REEE HAEfE 48 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0003 mg/AF ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e b b i ek 0008k 0005
Hoy |EREEESR 0.04 mg/ILLT P 0.004/< 0.004/< 0.004
10 [T UEPIF U RUERS T 0.01 me/IUT 0.001[< 0.001[< 0.001
Hi | WBEERRUVEHBREESR 10 me/ILT [ oa0] 04 04
12 [DVRRUZOLEED 0.8 mg/ILLF . 0.1 0.1
£13 [ RRUZOIEED tegns] 0 ¢ ol 0 [ 00 | - K 04[< 0.
H14 [mEERE 0.002 me/ 1T . b B I¢ o000k 00002
Hi15 |[14-SAFH 0.05 mg/ILLT - K 0.005< 0.005
H16 |va-12-0/A01FLY RIYR-1,2-Y JAOIFLY 0.04 mg/ILIF . _—_— 0.001(< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 0.093 0.12
#22 |/OOFE 0.02 me/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.00175 0.004
H24 |CHOOFREE 0.04 me/ILLT 0.0033 0.004
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.018 0.027
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.055 0.085
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |[JnECH/OOAEY 0.03 me/ILLT 0.005 0.011
#30 |[JOERILL 0.09 me/ILLT 0.031 0.052
31 RILLTZILTER 0.08 me/ILLT < 0.008|< 0.008
32 |EHRUZDILLEY 1 me/IUF 0.005 0.005
H33 |[FILI=ZHLRUVZEDIEED 0.2 mg/ILLF 0.02 0.02
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY g | o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 11.8 11.8
37 [RUARUEDIEE 0mgwdl [ 0} of ~ } F ¢ 0 P I @ [k ooof< oo
38 IR 14> 200 me/IBLF . 17.3 24.8
H39 (HILPIL TR LEEE) 300 meg/IUTF 44 44
40 |HREEBRY 500 mg/ILLF 116 116
a1 [BAA S REEIEA o2mewrl | 0 e [ I T I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF ooooo01]  oooooo2]  oooooot| ooo00otf [ [ | | | [ oooo00125]  0.000002
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.5 0.4 0.9 0.9 0.9 0.6 0.6 0.7 0.4 0.5 0.6 0.63 0.90
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.2 7.2 74 7.3 74 7.2 7.2 7.0 7.1 7.2 7.1 7.1 7.20 7.40
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETLRLIE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1< 0.1< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1
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REEE HAEfE 48 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0003 mg/AF ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e b b i ek 0008k 0005
Hoy |EREEESR 0.04 mg/ILLT P 0.004/< 0.004/< 0.004
10 [T UEPIF U RUERS T 0.01 me/IUT 0.001[< 0.001[< 0.001
1 |WREZRRVEMBERESR 10 me/ILLT 0.39 0.39
12 [DVRRUZOLEED 0.8 mg/ILLF 0.09 0.09
£13 [ RRUZOIEED tegns] 0 ¢ ol 0 [ 00 | - K 04[< 0.
H14 [mEERE 0.002 me/ 1T . b B I¢ o000k 00002
Hi15 |[14-SAFH 0.05 mg/ILLT - K 0.005< 0.005
H16 |va-12-0/A01FLY RIYR-1,2-Y JAOIFLY 0.04 mg/ILIF . _—_— 0.001(< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY 008mgwrl [ 0 of  } T I I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 0.0825 0.14
#22 |/OOFE 0.02 me/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0023 0.006
H24 |CHOOFREE 0.04 me/ILLT 0.00375 0.006
#25 |[CTnEH/OOAEY 0.1 mg/ILLF 0.02075 0.033
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.063 0.091
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |[JnECH/OOAEY 0.03 me/ILLT 0.0068 0.016
#30 |[JOERILL 0.09 me/ILLT 0.034 0.057
31 RILLTZILTER 0.08 me/ILLT < 0.008|< 0.008
32 |EHRUZDILLEY 1 me/IUF 0.005 0.005
H33 |[FILI=ZHLRUVZEDIEED 0.2 mg/ILLF 0.02 0.02
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY g | < o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 12.1 121
37 [RUARUEDIEE 0mgwdl [ 0} oef ~ } F ¢ 0 P I = [k oomf< oo
38 IR 14> 200 me/IBLF . 17.0 23.0
H39 [HLS DL TRV LEEE) 300 me/ILF 43 43
40 |HREEBRY 500 mg/ILLF 116 116
a1 [BAA S REEIEA o2mewrl | 0 e [ I I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0ooo002]  oooooot] o0ooooo2] o002 [ [ | | | [ ooo000175]  0.000002
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.4 0.5 0.8 0.8 0.9 0.7 0.5 0.7 0.5 0.4 0.6 0.62 0.90
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.2 7.2 74 7.2 7.3 7.3 7.3 7.2 7.2 7.2 7.2 7.1 7.23 7.40
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1< 0.1< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1




EHEK (R X) KEREREE

(FERi285FEE  X#EIRE)

REEE HAEfE 48 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 |Kig&E TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0.003 mg/ILLT ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
B |MBESRRUEMBEER 10 ma/I2LT [ o40] ] ] 04 04
12 [DVRRUZOLEED 0.8 mg/ILLF 0.09 0.09
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 0.09 0.19
#22 |YOOFEE 0.02 mg/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0023 0.006
H24 |CHOOFREE 0.04 me/ILLT 0.00375 0.006
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.02 0.03
H26 |[RFEE 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.061 0.091
#28 |M)HOOEEE 0.2 mg/ILT 0.003 0.003
#29 |[JnECH/OOAEY 0.03 me/ILLT 0.0060 0014
#30 |[JOERILL 0.09 me/ILLT 0.033 0.056
31 RILLTZILTER 0.08 me/ILLT < 0.008[< 0.008
32 |EHRUZDILLEY 1 me/IUF 0.005 0.005
H33 |[FILI=ZHLRUVZEDIEED 0.2 mg/ILLF 0.02 0.02
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY gt | o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 12 12
37 [RUARUEDIEE 0mgwdl [ 0} of  } F ¢ 0 P I = [k oomf< oo
38 IR 14> 200 me/IBLF . . 17.3 22.7
H39 [HLS DL TRV LEEE) 300 me/ILF 43 43
40 |HREEBRY 500 mg/ILLF 102 102
a1 [BAA S REEIEA o2mewr| | 0 ke [ I T I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF ooooo01]  oooooot] oooooot| ooo0002f [ [ | | | [ oooo00125]  0.000002
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.4 0.4 0.9 0.8 0.9 0.7 0.6 0.7 0.4 0.4 0.5 0.61 0.90
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.1 7.2 7.3 7.3 7.3 7.3 7.3 7.3 7.2 7.2 7.2 7.2 7.24 7.30
H48 [k BEETENIE | BELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BEELL BEELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1




KUk (BEHX) KEREREE

(FERi285FEE  X#EIRE)

REEE HAEfE 4R 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0003 mg/AF ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 027 027
£12 [J9RRUZOIEEY osmomFli bl omp b bl b bl 0.08[< 0.08
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 0.0825 0.14
#22 |YOOFEE 0.02 mg/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.001 0.001
H24 |CHOOFREE 0.04 me/ILLT < 0.003[< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.0025 0.003
H26 |[RFEE 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.0040 0.006
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |[JnECH/OOAEY 0.03 me/ILLT 0.0013 0.002
#30 |[JOERILL 0.09 me/ILLT 0.0013 0.002
31 RILLTZILTER 0.08 me/ILLT < 0.008|< 0.008
32 |EHRUZDILLEY 1 me/IUF X 0.024 0.024
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY gt | o0 f I [ @ K 001[< 001
#36 [FHUVLRUZDIEEY 200 mg/IAF 144 144
37 [RUARUEDIEE 0mgwdl [ 0} of  } F p 0 0 P I = [k oomf< oo
38 IR 14> 200 me/IBLF . . 24.0 59.9
H39 [HLS DL TRV LEEE) 300 me/ILF 27 27
40 |HREEBRY 500 mg/ILLF 72 72
a1 [BAA S REEIEA o2mewr| | 0 e [ I I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0000001]<  0000001]< o0o000001]< o00o00otf [ [ [ [ | [ 0000001[< 0000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.3 0.3 0.4 0.4 0.3 0.3 0.3 03] < 03] < 03| < 03| < 0.32 0.40
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.1 7.1 7.0 7.1 7.0 7.0 7.1 7.0 7.0 6.9 6.9 7.0 7.02 7.10
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1< 0.1< 0.1< 0.1|< 0.1|< 0.1|< 0.1|< 0.1




BIREAMERNK) KEREHREE

(Eri2ssEE  X#IRE)

REEE HAEfE 48 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0003 mg/AF ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e b b i ek 0008k 0005
Hoy |EREEESR 0.04 mg/ILLT P 0.004/< 0.004/< 0.004
10 [T UEPIF U RUERS T 0.01 me/IUT 0.001[< 0.001[< 0.001
1 |WREZRRVEMBERESR 10 me/ILLT 0.27 0.27
#12 [JvRRUZOLEEY 0.8 me/ILLF . B R 0.08[< 0.08
£13 [ RRUZOIEED tegns] 0 ¢ ol 0 [ 00 | - K 04[< 0.
H14 [mEERE 0.002 me/ 1T . b B I¢ o000k 00002
Hi15 |[14-SAFH 0.05 mg/ILLT - K 0.005< 0.005
H16 |va-12-0/A01FLY RIYR-1,2-Y JAOIFLY 0.04 mg/ILIF . _—_— 0.001(< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY 008mgwrl [ 0 of  } T I I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 0073 0.11
#22 |YOOFEE 0.02 mg/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0013 0.002
H24 |CHOOFREE 0.04 me/ILLT < 0.003[< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.0048 0.007
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.0093 0.015
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |[JnECH/OOAEY 0.03 me/ILLT 0.0023 0.004
#30 |[JOERILL 0.09 me/ILLT 0.00175 0.003
31 RILLTZILTER 0.08 me/ILLT < 0.008|< 0.008
32 |EHRUZDILLEY 1 me/IUF X 0.024 0.024
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY gt | < o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 14.9 14.9
37 [RUARUEDIEE 0mgwdl [ 0} of ~ } F ¢ 0 o I = [k oomf< oo
38 IR 14> 200 me/IBLF . . 26.5 59.1
H39 [HLS DL TRV LEEE) 300 me/ILF 31 31
40 |HREEBRY 500 mg/ILLF 77 77
a1 [BAA S REEIEA o2mewr| | 0 e [ I I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0000001]<  0000001]< o0o000001]< o00o00otf [ [ [ [ | [ 0000001[< 0000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.3 0.3 0.4 0.4 0.4 0.4 0.4 0.3 03] < 03| < 03| < 0.34 0.40
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.1 7.2 7.1 7.1 7.1 7.2 7.2 7.0 7.1 7.0 6.9 7.0 7.08 7.20
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETLRLCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5)< 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1< 0.1< 0.1< 0.1/< 0.1< 0.1|< 0.1|< 0.1




HURE K (R ABR /AL RLE) KEREREE

(FERi285FEE  X#IRE)

REEE HAEfE 4R 58 67 7R 8A 9A 108 118 128 18 2AH 3A FHiE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0.003 ms/ILLT ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 059 059
12 [DVRRUZOLEED 0.8 mg/ILLF 0.1 0.1
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 01175 017
#22 |/OOFE 0.02 me/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT < 0.001[< 0.001
H24 |CHOOFREE 0.04 me/ILLT < 0.003[< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.0100 0.014
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.034 0.041
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |JnESH/OOALY 0.03 me/ILLT 0.00175 0.003
£30 [FOEhLL e e Gy B e QUuuyTY R B R YTT S R A 0022 0024
31 [ LT LTER ogmgwaFl [ < ooosf ] = J< ooosf [ = [< ooosf [ | 008[<  oo08l< 0008
32 |EHRUZDILLEY 1 me/IUF X 0.016 0.016
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmomFli bl bl b b bl 0.03[< 003
£35 [HRUEDIEEY gt | [ o0 I [ ] 007 007
#36 [FRIVLRUZDILEY 200 me/ILIF 12.9 12.9
37 [RUARUEDIEE 0mgwrdl [ 0} oef  } F ¢ 0 P I = [k oomf< oo
38 IR 14> 200 me/IBLF . 18.3 29.9
H39 [HLS DL TRV LEEE) 300 me/ILF 55 55
40 |HREEBRY 500 mg/ILLF 132 132
a1 [BAA S REEIEA o2mewr| | 0 e [ I I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0000001]<  0000001]< o0o000001]< o00o00otf [ [ [ [ | [ 0000001[< 0000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.3 0.4 0.6 0.7 0.7 0.4 0.4 0.5 0.4 0.4 0.5 0.48 0.70
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 6.8 6.8 6.8 6.8 6.8 6.9 6.9 7.0 7.0 6.9 7.0 7.1 6.90 7.10
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1




EFHEAK (KEHX) KEREREE

(FERi285FBE  X#ETRE)

REEE HAEfE 4R 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 |Kig&E TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0.003 mg/ILLT ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 0.62 0.62
12 [DVRRUZOLEED 0.8 mg/ILLF 0.08 0.08
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 015 0.22
#22 |/OOFE 0.02 me/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0013 0.002
H24 |CHOOFREE 0.04 me/ILLT 0.003 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.016 0.029
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.050 0.068
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 [JoED/OOAFY 0.03 me/ILLT 0.004 0.01
#30 |[JOERILL 0.09 me/ILLT 0.0295 0.037
31 RILLTZILTER 0.08 me/ILLT < 0.008[< 0.008
32 |EHRUZDILLEY 1 me/IUF I 0.01 0.01
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY g | o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 15.2 15.2
37 [RUARUEDIEE 0mgw®l [ 0} oef ~ } F ¢ P I = [k oomf< oo
38 IR 14> 200 me/IBLF . 18.1 22.6
H39 [HLS DL TRV LEEE) 300 me/ILF 52 52
40 |HREEBRY 500 mg/ILLF 136 136
a1 [BAA S REEIEA o2mewr| | 0 e [ ! I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0oo0001]  oo0oooo1]<  oooooot|[< oooooorf [ [ [ [ | | "ooo0001] o0.000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.3 0.3 0.7 0.6 0.7 0.5 0.5 0.5 0.4 0.3 0.5 0.48 0.70
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 6.7 6.8 7.0 6.9 7.0 6.9 6.9 7.0 7.0 7.0 7.0 7.1 6.94 7.10
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1




NAREEKS RF#HX) KEREREE

(FERi285FBE  X#ETRE)

REEE HAEfE 4R 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0.003 mg/ILLT ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 0.56 0.56
12 [DVRRUZOLEED 0.8 mg/ILLF 0.09 0.09
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 016 02
#22 |/OOFE 0.02 me/ILT < 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.0015 0.003
H24 |CHOOFREE 0.04 me/ILLT < 0.003[< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.020 0.03
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.064 0.087
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |JnESH/OOALY 0.03 me/ILLT 0.0043 0.009
#30 |[JOERILL 0.09 me/ILLT 0.040 0.056
31 RILLTZILTER 0.08 me/ILLT < 0.008[< 0.008
32 |EHRUZDILLEY 1 me/IUF X 0.007 0.007
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY gt | o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 127 12.7
37 [RUARUEDIEE 0mgwdl [ 0} of ~ } F ¢ 0 o I = [k oomf< oo
38 IR 14> 200 me/IBLF . . 18.2 235
H39 [HLS DL TRV LEEE) 300 me/ILF 48 48
40 |HREEBRY 500 mg/ILLF 124 124
a1 [BAA S REEIEA o2mewrl | 0 ke [ I T I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF ooooo01]  oooooo1]<  oooooot] o0oo0oorf [ [ [ [ | | "ooo0001] o0.000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<__ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.3 0.3 0.7 0.7 0.7 0.5 0.5 0.5 0.4 0.4 0.4 0.49 0.70
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 6.9 6.9 71 7.0 7.0 7.1 7.1 7.2 7.2 7.1 7.3 7.2 7.09 7.30
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1




